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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-2_0
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G3-2

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

06:05 127 120.0 2.592 5| {Ri%@06:05 Bz (FAERSE)
06:45 127 120.0 2.592 5| 1Ri&e06:45 BHzh (REAERS)
07:25 127 120.0 2.592 E BRi&e07:25 Bzl (GRAEREE)
08:25 127 120.0 2.592 = {Rige08:25 B (RFAERSE)
09:10 127 120.0 2.592 =l RRiB009:10 Bz (RFAEEE)
09:50 127 120.0 2.592 = RRiB009:50 Bz (REAEEE)
10:30 127 120.0 2.592 5 {Ri%@10:30 B3 (RAERSE)
11:15 127 120.0 2.592 =l {Rige11:15 B3 (GRAERSE)
12:05 127 120.0 2.592 =l RRiBe12:05 Bah (REAKEE)
12:55 127 120.0 2.592 E| {Rige12:55 Bah (RE{ERSE)
13:40 127 120.0 2.592 E BRige13:40 Bz CGRAERESE)
14:15 127 120.0 2.592 =l Rige14:15 Bz (REAKEE)
14:55 127 120.0 2.592 E BRige14:55 Bz (GRAERSE)
15:35 127 120.0 2.592 F BRige15:35 Bz (GRAERSE)
16:15 127 120.0 2.592 =l RRiB016:15 Bz (REAKEE)
16:55 127 120.0 2.592 E BRige16:55 Bzl (GRAERESE)
2it]2032.0 (167%) 1920.0 32 3KEC: 2500.0, PH: 6.5

large discrepency for begining water status (253:90.0), set to 253 ml
REXEBIPH (10.53) H5i&EPH (6.5) RER KA, HFHE
REXFEBIPH (10.53) 5FMPH (6.5) RERK, EHRE
[Bl/&REC 3937.0 K&, ZiLFAIRECAE R IMIEER
BEEIRECE (2737.0 vs 3937.0) RS
EXRGEBPH (10.4) 5% EE (6.5) REKK, BRE.
ERGEBIPH (10.4) S5iREEY (6.5) REK K, BHRE.




G3-2_0, Day=27 (2025-06-08)
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G3-2

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

06:30 127 120.0 2.592 = {RRiB006:30 B (FRFAEEE)
07:15 127 120.0 2.592 E BRi&e07:15 Bzl (GRAERESE)
08:00 127 120.0 2.592 = {Ri%@08:00 B (RFAERSE)
08:55 127 120.0 2.592 = {RRiB008:55 B (FRFAEEE)
09:40 127 120.0 2.592 = RRiB009:40 Bzh (REAEEE)
10:25 127 120.0 2.592 = Ri8010:25 Bz (REAEESE)
11:15 127 120.0 2.592 =l {Rige11:15 B3 (GRAERSE)
12:10 127 120.0 2.592 =l RiBe12:10 Bz (REAKEE)
13:05 127 120.0 2.592 E| {Rig@13:05 Bzh (RE{ERSE)
13:50 127 120.0 2.592 F BRi%e13:50 Bz (GRAERE)
14:30 127 120.0 2.592 =l RRiB014:30 B (REAKEE)
15:15 127 120.0 2.592 E BRige15:15 Bz CGRAERSE)
16:00 127 120.0 2.592 F BRige16:00 Bz (GRAERE)
16:45 127 120.0 2.592 5| 1RiRe16:45 B (KREAERSE)
2i3t]1778.0 (14%) 1680. 0 EGHKEC: 2500.0, PH: 6.5

EORGERBTHC R IR AR B ZE I (127 vs 190.0))

ELIASSPRIERE80. 0 ml.
RERJEBIPH (10.45) 5i&7EPH (6.48) RERK, FHRE
REXEBIPH (10.45) 5FMPH (6.5) REKRK, BT
BEERECE (2672. 0 vs 3540.0) R
ERGEBPH (10.5) 5% EME (6.5) RERK, FNRE.

ERGEBIPH (10.5) S5#ERIEW (6.5 RERK, HRE.




G3-2_0, Day=26 (2025-06-07)
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G3-2

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

06:40 125 120.0 2.592 = RRiB006:40 B (RFAEEE)
07:25 125 120.0 2.592 E BRi&e07:25 Bzl (GRAEREE)
08:25 125 120.0 2.592 5| {Ri%e08:25 Bz (FAAMERSE)
09:15 125 120.0 2.592 =l RRiB009:15 B (RFAKEE)
10:00 125 120.0 2.592 =l RRi80@10:00 Bzh (REAEEE)
10:45 125 120.0 2.592 = RRi8010:45 Bz (REAEESE)
11:35 125 120.0 2.592 =l {Rige11:35 B3 (RAERSE)
12:35 125 120.0 2.592 S| {Rige12:35 B (REAERSE)
13:30 125 120.0 2.592 E| {Rig@13:30 B3h (RE{ERSE)
14:10 125 120.0 2.592 E BRige14:10 Bz CGRAERESE)
14:50 125 120.0 2.592 S| {Rige14:50 B3 (RAERSE)
15:35 125 120.0 2.592 E BRi%e15:35 Bz (GRAERSE)
16:20 125 120.0 2.592 F BRige16:20 Bz (GRAEREE)
17:10 125 120.0 2.592 =l Rige17:10 B3 (GRAERSE)
H2i3t] 1750.0 (14)%) 1680. 0 EGHKEC: 2500.0, PH: 6.5

EORGERBTC R IR AR B E I (125 vs 185.0))

EXIASEPRIERE81.0 ml.
REXFEBPH (10.56) S5i&EPH (6.5) RERK, HFHRE
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